i H AN K4 gL k2 LR ik

100m TEE 1M AR 2 (2) 1z 10.90 -0.6
W E¥(2) 2 fir 10.96
HiEE K@) 6 fir 11.15

T 24 s A(2) 1 {7 10.98 0.0
FHR K2 6 fir 11.35

Ti% 3 R TERE(2) 1 {7 10.89 -0.4

T 5 i KEF FHE(2) 2 i 11.22 +1.1
M E(2) (R 11.35

T 6 i BEH rE&E2) 1 {7 10.90 +1.5
W RiAQ2) 2 fir 10.95

Tig 8 A MEE(2) 4 {7 11.50 -0.6
Wil #EIEQ) 5L 11.59

T 9 EH BAQ) 1 {1 11.16 +1.4
HH OERQ) 4 ir 11.47
/NS THYE(2) RA 11.49
EAR AR (L) 6 fir 11.59

Ti% 10 fH “H &R Q) 1z 11.21 0.0
£ HERE(2) 27 11.23
AR BEYR(1) 3fr 11.36
fEH EAR) 5L 11.50
R i t(2) 7L 11.64

Tig 11 FH1 gk A0 147 11.49 +0.8
REFBEVER(1) 3fr 11.61

T 14 & HKO 2 fif 11.53 +0.1
IR Bk 3fr 11.61

T 15 i et A (1) 17 11.44 +1.7

Ti% 16 #i KT Bk 147 11.46 +1.9
W Sefh(1) 5L 11.90

Ti 17 i aA AR 147 11.31 +2.5
fHE () 5fir 11.56

Tig 18 KA TEAK () 4 fir 11.88 +1.6

T 20 THE KM (©2) 141 11.36 +0.7
Hl BROR(1) 2 if 11.49

T 22 i N0 3 11.87 +0.3
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i H AN K4 gL Gk LR ik
100m T 22 i I RE2) gRDA 11.99 +0.3
T 27 fi By rh(2) 2 fir 12.02 +2.2
FoL—x1M | WA B 141 10.64 +1.7
e TEE(2) 2 fiL 10,67
W E¥(2) 3fr 10.71
sE A(2) 4 fir 10.79
EH L) 6 fir 10.86
WE Q) 9 fir 11.05
gor—x28 | HEE K@) 6 fir 10.89 +2.4
For—=3m | EH BBAQ) 5fir 11.00 +2.3
T S YN 8 fir 11.16
FoLr—24m | KE FHE(2) 3fr 10.98 +2.8
£ HERE(2) 7L 11.06
FoL—2s5fl | HAR FAIKQ) 9 fir 11.34 +2.2
Far—xe6M | FHE K2 2 fir 11.05 +1.5
M R (2) 5L 11.11
fHE R 2) 74 11.28
AR BRYR(1) 8 fir 11.41
For—28M | KT BE3(1) 6 fir 11.30 +2.7
etk A (1) 9 fir 11.41
Folr—xoM | HH RRQ) 3fr 11.23 +3.1
FoLr—x108 | Hk FEAQ) 147 11.19 +2.8
INPE - T5E(2) 2 fir 11.25
AH MEE(2) 5fir 11.36
Hl BROR(1) 6 fir 11.37
w2r—xuM | K EHKQ) 4 fif 11.42 +1.0
fEE () 7hr 11.56
For—=214 | WL Q) 2 fif 11,22 +2.1
B H AR (L) 3fr 11.29
2 L—2 134 | REFBEFRAR(L) 1% 11.44 +0.3
KR Bik(1) 2 fir 11.47
R ft(2) 4 fir 11.58
For—2 134 | K KHEQ) 8 fir 11.87 +2.3
110mH T 250 B FHIRQ) 3 15.23 +1.1
1M/4 5 6 [a17= Bfibeth itk




i H AN K4 gL Gk LR ik
110mH T2 4 Hrl BROR(1) 5 fiL 15.68 +1.1
Ti% 3 AT B 2 fir 15.85 +1,5
i H AN K4 JEAL Gk JRGH i
100m T 1M HI ) 17 11.80 +1.3 | KEacsk
T 2 FH 5 EA#EQ@) 4 fi 12.64 +0.6
Ti% 3 A BR3E(2) 17 12.28 +0.5
B A& ©2) 3L 12.39
AH EHTH(2) 5 fiL 12.46
Tig 5l = T (2) 1z 12.51 +0.8
5 F=0) 3L 12.75
T 6 i F EOR72(1) 1 {1 12.68 +1.3
Kb H22(1) 2 fir 12.70
EHHI&FH2) 3L 12.78
T T /N B A (1) 4 {7, 12.87 +1.7
R BirE (2) 5z 12.98
R #iZEQ) 6 fir 13.03
T 8 JBREF PRTE(2) 17 12.82 +0.9
HE PkE2) 3fr 13.27
IR 35 & A 7>(1) 4 ir 13.34
Tig 9 SA EAh(1) 5L 13.56 +1.3
P 13 M =) 1 {7 12.87 +2.7
moLr—= 1M | Fi FEKQ) 147 11.98 +0.9
LA EZR3E(2) (R 12.37
golr—x2M | R JAEFQ) 5fir 12.39 +0.8
= T (2) 6 fir 12.41
A PRTH(2) 8 fir 12.52
FoLr—23M | S EHEQ) 17 12.40 +2.9
F EOe7-(1) 3fr 12.49
Kk #FH22(1) 8 fir 12.70
For—xam | B F=0) 1 iz 12.63 +2.8
BEH O I&FI(2) 2 i 12.69
JBREF  JHIE(2) 71 13.00
gor—25 | /UL DAHQ) 6 fir 12.76 +2.3
e =) 7L 12.79
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& H AN K4 JIEAZ ALK JBE fii%5

100m FoLr—x6f | A BE(2) 5fir 12.87 +1.2
FoL—27M | R #iEQ) 2 fir 13.09 +1.3
FoL—x8fl | I A1) 2 fir 13.31 +1.4

| P& Q) 3L 13.31
100mH T 1A FREF  JRIE(2) 2 fir 14.20 +1.7
T 2 R 35 &> 22 70>(1) 4 fir 15.48 +0.9

BEA EAl(1) 6 i 15.87
FoLr—2 1M | RREF JRIEQ2) 2 fir 14.02 +2.6
FoLr—x28 | DA H(1) 2 fir 14.83 +2.1

BA EAh(1) 6 fir 16.05

1M/4 5 6 [a17= Bfibeth itk




